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x+y=10 -5x — 5y =-50
.05x + .20y =1.25 5x +20y = 125
15y =75

x+5=10 =5

x=5
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Paulo saves 25- and 50-centavo
coins for tolls. If he has 32 coins
worth P14, how many 25-centavo
coins and 50-centavo coins does he
have in all?
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oA grocer plans to mix nuts that sell
for P12 a kilo with nuts that sell for
P24 a kilo to get a mixture that he
plans to sell for P16.50 a kilo. How
much of the P12 and P24 mixed
nuts should he use if he wants 80
kilos of the mix?




image9.png
Noy bought 7 pens and 9
pencils and paid a total of
P106.75. Mar purchased 3 pens
and 6 pencils and paid P57.00.
Find the cost of one pen and
one pencil.
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Let: X = cost of pen P 5.25 = cost of pen
y=costof pencll P 8.5 = cost of pencil

7x + 9y = 106.75
3x + 6y = 57.00

y=5.25
x=8.5
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Find two numbers whose sum is 67

and whose difference is 3.

Let x be the greater number and y be the
smaller number.

2x =70
X =35 y=32
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The length of a rectangle is five

more than twice the width. The

perimeter is 70 m. What is its

area?

Let: x=length of the rectangle Area=LxW
¥y = width of rectangle

x=2y+5

2x +2y =70
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The sum of the ages of Ely and his
son is 60. Two years ago, Ely was
three times as old as his son. How
old is Ely’s son? How old was Ely
when his son was born?

e
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Mixture Principle

Amount of Amount of Total
1* ingredient 2nd ingredient Amount
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¢How many ounces of 5%
hydrochloric acid and of 20%
hydrochloric acid must be
combined to get 10 ounces of
solution that is 12.5% hydrochloric

acid?

Kind of Solution | Ounces of Solution Ounces of Pure Acid

05x
20y
(125)10





Find two numbers whose sum is 67
and whose difference is 3.

Let x be the greater number and y be the
smaller number.

The length of a rectangle is
more than twice the width. The|
perimeter is 70 m. What is its

2x+2y=70




